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多項式の計算⑵
P.18～23
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1 (各 3 点× 4 )
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3 (各 5 点× 2 )
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4 (各 6 点× 2 )
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 〈(x＋a)(x＋b)の展開〉　次の式を展開しなさい。

⑴　(x＋1)(x＋8) ⑵　(a＋7)(a－5)

⑶　(x－6)(x＋2) ⑷　(x－9y)(x－3y)

 〈(x+a)2，(x-a)2　の展開〉　次の式を展開しなさい。

⑴　(x＋8)2 ⑵　(x－5)2

⑶　(3y－2)2 ⑷　(4a＋3b)2

 〈(x+a)(x-a)　の展開〉　次の式を展開しなさい。

⑴　(a－7)(a＋7) ⑵　(3x＋5y)(3x－5y)

 〈いろいろな式の展開〉　次の式を展開しなさい。

⑴　(x＋y＋3)(x＋y－6)

⑵　(a＋b＋4)2
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〈重要用語と公式〉 (各 1 点× 4 )
・展開の公式
（x＋a）（x＋b）＝x2＋（〔①　　　　　　〕）x＋ab

（x＋a）2＝〔②　　　　　　　　　　　　　　〕　（x－a）2＝〔③　　　　　　　　　　　　　　〕
（x＋a）（x－a）＝〔④　　　　　　〕
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1 (各 3 点× 4 )

⑴
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2 (各 3 点× 4 )
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⑵
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3 (各 5 点× 2 )
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4 (各 4 点× 4 )
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⑷

 次の式を展開しなさい。

⑴　(x－7)(x＋6) ⑵　(a－10)(a－3)

⑶　(x＋5y)(x－8y) ⑷　(2x＋3)(2x－1)

 次の式を展開しなさい。

⑴　(x＋10)2 ⑵　(－a＋3)2

⑶　 m－ 1
2

　n
2

 ⑷　(5x－6y)2

 次の式を展開しなさい。

⑴　(x＋12)(12－x) ⑵　(9a＋2b)(9a－2b)

 次の式を展開しなさい。

⑴　(a－2b＋6)2 ⑵　(x－y＋5)(x＋y＋5)

⑶　(x-3y+1)(x-3y-2) ⑷　(3x+2y-4)2
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